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1 1
2 2
3 3

Question Body and Alternatives

"Learning is an active Social Process" - Statement given by :
"G MHMEL 6T6TLIGI HMeTO@& Fens Q& WeLLIT(H)" — 6T60TE Famluleur ?

A : Carl Jung
&6V Wbl
B: Williamson
ellevedl Wb & 60T
C: Jerome Bruner

QECITLD LJ(HeooT [}

D: Mc Donald
Q&G meoTmeL(h
The Thorndike's law of effect emphasises the role of in the process of learning.

STFevoren L& 601 elemenea] allG) SMMEL QFUIEVLITL 196V ) 56T LIkend el msGSIHMmS! :

A : Rewards and punishment
L& 86T L0 MHMmILD & 600TL_60)60T
B: Rewards only
Ufl& &6 Il (LD
C: Punishment only
&H600TL_60)60T LOL_(ILD
D : Response only
SIVHISGH6E DL (KD

Statement 1 : Learning is an individual activity.
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; : Learning is a social activity too. Google Play
Tl 1 : HMHMEV 6TedT LIS SeoflBLIT Q&weoim().
FaMmI 2 : HMHMEV 6TOTLISI FeNFHHCHT(H ) 6M600THS Gl&F UIGVLITL TG LD.

A : Statement 1 is correct
Famol 1 &if]
B: Statement 2 is correct
Famml 2 F1f]
C: Statement 1 and Statement 2 are correct
Famml 1 LMD Samm 2 Fifl
D: Statement 1 and Statement 2 are wrong
S (DO 1 DHDID S DD 2 SeUDI
4 4 | Which of the following learning is known as learning of reinforcement ?

LD 85556007 L6 M MIGT 6TEUAIMEHS SMMEL ULl (h& &MM6L ?

A : Classical conditioning
3L,55 BlenmeWIHS LD
B : Insight learning
2 L&ML& smmev
C: Operant conditioning
SIVBIGMOVF FMTHS 3,6 &blaneuuil(FEH 510D
D : Stimulus - respond
SITE00T L6V — S16VMHI86V
5 5 | Select the series to behaviourist.
BLENGHE Q& TeTen s U MeTIaerfler auflengenwsd Q5fle] Q&S :

A : J.P. Watson, Skinner, Pavlov
G3.9. eUITL_&F6dT, 670 P 60T6oTIT, LIMT6U6V6L
B : Crow-Crow, Gardener, Gilford
SGCIMT-GCrm, &TyLery, HevCUMT(hH
C: Gilford, Rass, Gardener
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6
7 7
8 8

ReuCUITT®), TN, &ITTL 60T
D : Thorndike, Skinner, Kohler
SITT600Te0 L&, 61V T 6OT60T T, HTEHG6VIT

Choose the correct answer.

Important role in the development of language skills depends on :

(1) Physical maturation

(i1) Experience

gflumeraumenm Qe Q&FUIs.

QTP ST M6 aleTFER UIl6L (N&HT WL LIMIG USRS :
(i) 2_L6v emailevmerT (INH F&FH

(i) OFTHS SgLien PHFFE

A : (i) correct only
(i) L Frflwmers!
B : (ii) correct only
(i) LD Fiflwmerg)
C: (i), (i) are not correct
(i), (i) @ UetorHILD SeUMTEOTSI
D : (i) is not correct
(i) IDL_(hILD SUMTEOTS!

Steps included in John Dewy's problem solving method :

smerGuilet TFaener SFH560 LNemMUI6 2_6T6T LI [Blen6V &6 :

A: 6
6
B: 4
4
C: 5
5
D: 3
3

"Name the apparatus used to measure oil" is one of the example for verbal test :
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" 6T600T @) 600T Ul 216188 LIUI6STLI(RILD & ([HellWI6dT QILILIIT 6T6dTenT 2" — 6Te)aUem 8 C&FMTH M 6018 & 6T(H & S5 &

A : Similarity verbal test
@ mienn eUTUQLTY G5 Mg en 60T
B : Digit - Span verbal test
@6v55 @6 Qa6 eumIQLML G&F Mg emeor
C: Comprehension verbal-test
Lflgev aumiQomsl G& Mg em 6ot
D : Vocabulary verbal test
QFMLGTTH UMM C&F Mg 60607

9 | Piaget's three - mountains problem implies on .
Nwmreguiler Iemend CFMEem6T QIFTLFL6mL WIS :

A : Egocentrism
5 60TemIDUL [Bl606V
B : TIrreversibility
(6ot L6dT LommMmLD
C: Classification
U SLILIMB S SISH60
D: Conservation
LUMSI&THH 60
10 According to piaget's - motor and language development more at the age of :

LNwmGeeetr SnmmiLILg L|6vestl& s sSHmedT Inmmid QTYESH M6 W&GHS! &meoor LI euulg) :

A: 3to7 years

3 (PSH6V 7 QUIHLMBIGHET
B: 1to2years

1 (PSH6V 2 QUIHL_MIGHET
C: 5to8years

5 (PS6V 8 QUIHLMHIGEHET
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D 110 3 years

1 (PSH6V 3 QU(HL_BIG6T

11 I Spearman's Concept 'S' stands for :
e LNWFTCLO6DT S(HSSILILG. 'S 6TET LIS :

A : Special factor

FLILIE &Tyevol]
B : Small factor
Al sryevof]
C: Simplified factor
ererflw & miyevof]

D : Structural factor
S|emLDLIL]| SITTevol]

12 12 Formation of peer group is activity.

RUILMT &(W 2_(HeuTeusl 6(H QFweoIm(®.

A : Planned
S MR [N R [
B: Structured
SLLEMDGSSHLILILL
C: Spontaneous
@\ W6V LImeoT
D : Purposive
CHM&H&HSHSIL_60T Fnlq UL
13 13 For making a child get proper emotional development, teacher should give :

(LLEYMLITEIT LDETQ QU (LDEF (LNEITGTMME NS GHLHeMS GILIM, T Ll @eumenm j6flékas Galor()Ld :

A : Co-curricular activities alone
&HMHM6V @)6M60oTEF QIF WL LITH&ET DL (HILD

B : Progressive Curriculum alone
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WOGLITESTET 56060653 LD 0L (HILD

C: Good text books and play things
H6V6V LIML LI LIS 8D & eNlemamiml (h L1 QUITIHL 86T
D : Progressive Curriculum and Co-curricular activities
WMHBUMTEHSTET &HeMeVs HIL_L LD & HMHMEL @)6m60Ts Q& UI6LLIM(H & 6T

14 14 Assertion : Angry reaction increases with age.
Reason : As cognitive and motor development are intimately involved.

Fahol : WG H&FHGDCUTH CHTLSH 6T QauefliLT@LD HH &6 GL0.
GTJE0TLD : FQ6T6nT16L MIIFHMEST LDMMID @ UISHSE UeTHER L&D @) 66T HS! LiMkIEG Q&MaTHmal.

A : Both assertion and reason are true
Fo MM IDMMILD &TJevorld &yl
B : Both assertion and reason are false

Fn MM LDMHMILD SITF6E00TLD &6UmI

C: Assertion is true and reason is false
G m Fifl, HTFeoord &euml
D : Assertion is false and reason is true
Fahm HeUml, STyevorid Fifl
15 IS5 ' In which stage of emotional developments a child becomes more reflective in understanding of causes and consequences of emotions ?
615G LDGTGRI(EDR auemi&F Bleneuullev, 2(H GLPHEMS LNGITGRU(LDEF &8 T60T &ITI6orld LnMMILD &il6m6Te 5 6em6T FHH &SI
U b Q&TeaTEmS ?
A : 0-2 Months
0 (LPSH6V 2 LOMS MG 6T
B: 2-3 Years
2 (NS6V 3 QU(HLMEIGHET
C: 3-6 Years
3 (LPS6V 6 QUIHLMBIGHET
D: 7-11 Years

7 (PSH6V 11 QU(HL IS 6T
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A cnild 15 doing a task with help of adult and more skilled peers is associated with

R GLPHMS QF W6V QF WD CUME auug (NS THS6UTSH6T nMmMmILD @mm NGBS @UIUTT &welleT(hL 6T CFFHS
QFWem6L GLOMGISHITETEHEUS 6THEIL 60T QS TLITL|6ML_ WIS ?

A : Scaffolding
6rVG&HGLIMeVLY Ml
B : Zone of proximal development
S| 6TOTETILN GUETIEFE LN6voTL_6VLD
C: Language acquisition device
Qurlenl &MHGLD FTHeTLD
D : Reciprocal teaching
VB &HMLIGSH60
The moral development that children learn in any of the following period can be applied throughout life.

L9 63T6M (IH 61 60T6U M MI 6T G LOTH6M S &H6T 6THS LI LI[HeUSH 6V &M MIG6 & MeoorL 6 (LLOLNITEITSI QUTLDE S (LD (DEISMEGLD
LWeTU® &S PIguw ?

A : Later childhood period
et @LoHen L LIHeULD
B : Adolescence period
&I LHeULd
C: Infancy period
F &L LpeuLd
D : Pre-childhood period
e GBS LIHeULD

" Strength is life, Weakness is death". Who said that ?
"LIGVGLD QUITLDE 6055, LI6VeTeoTGLD LOT60oriD" — 6T60TE Sm MIUIGUT WITIT 2

A : Jawaharlal Nehru

LeamIeVTel CH(
B : Bharathiyar

UmyFswmy
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Mahatma Gandhi
ID&GTSOT SMTHS
Swami Vivekananda

Gaumll eNGeaUs TeTH ST

19" Which one of the following is a wrong statement ?
L9 6BT6) (IH 61 60T6U M MU 6T 6TS1 &H6UMITEOT G DI ?

20

21

A : Neurons are transmitting the external stimuli to the central nervous system
Bl W, T IT60TE 6T Q6U6ITIUL|6VE SHIT600TL 605606 60O [FIIFLDL] LD6TOTLVESB MG 6T(HHSIF QFLR M.
B : Neurons transmitting the responses from central nervous system to the respective organs
IBIWL T TEOTSH6T B LDL| LD6DOTL 605 B 69 (BB S &L L 6memgemeT 2 L 6960T Liv 2 MILIL|&EH8E 68 Teu(h QFHMmSI.
C: Neurons are co-ordinators of information and communication of nervous system
IBIWLITITET [BIFLDL] OG0T VS H 6V H&H6I60 QG TLFemL JDHLIHNSSILD @) 60600TILIMTS 2_6TeTSI.
D : Two neurons are connected to each other
@ 7evor(h) B, TTEOTS6T @) 60600T[HS! & MevoT LILMQBMS!.
According to Piaget is the 111 stage in cognitive growth of an individual.

LNwm@guiedr oimg6L HMeoT eueTJEFILI LG Bleneudserflev 11 LIl Blemeul T8 3jeUl Sn Mgl

A

Formal operational stage

(LLED MWITEOT LD6OTEF Q& WevLITL () Blemsv
Concrete operational stage

L@GLIQUTIHET Q&FUW6LLTL (B Bleney

Pre - operational stage

LDeTdF QEFWLLTL (B &G (PHeNS W Bletrev
Sensory motor stage

L|6V60T @) U155 [Hlem6V

Among the following characteristic, how the children learns their moral development from the parents, teachers and society ?
GG MeILD LicoorL&6rTl6v, 6THS &MMeL aUNUIMES GLHMS 56T R(WDES aleTIEF e Shisertler QUMCMTT, LA FlwFsserT
MHMID FeNSSH L LABHS SMMIG Q&TETHMTITSHET ?
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AT Imitauve-learning

erumm &mmev

B: Co-operative learning
@6EuTHE! & MHMEV

C: Problem solving learning
pggemen S&8 &MHMmey

D : Imprinting learning
S QWIMHM HHMEL

22 22 | A student of standard 5 is always in a bad company. He picks up the habits and social qualities of a bad company. What will he become in future ?

SHSTD QUEGLIL] LG &GLD LDTEITEU6IT 62(HEUE6DT 6TLIQLIMWDSILD Sl @) emevorullev @) [H& S MTEOT. 3J6U60T HULI &) 60)600T 8 & T60T
L& &MHBISET LDMMILD Fengs SIS 66T QlLMIGMTEIT. 6TH THTeVE H 6V 2|6U60T 6T6OTEOTEU TS L6 T60T?

A : Patriotic person
BT GILILIMMIETET [HLT
B : Antisocial person
Fens NG U
C: Legitimate person
FLLLILL,FeULDTeoT BLIT
D : Loyal person
D _600T60)LOWLITEOT [HLITT

23 23 | Which term is referred as "Technology and Teaching" by B.F. Skinner ?
L9.eTL1. s R ereory @I L "Q&Tdl6LBIL LIINLD SMLISHeVID" eT6dT LIS

A : Teaching technology
SHUSSH6 Qg miflevmIL LD
B : Information technology
F&H6I6 QS MPleLHIL LI
C: Behavioural technology

BLEMS QG THIeLHIL LD

D : Instructional design
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24 24 | Find the way adopted by students in learner centered approach.
BCLD QOHTH&HSELILL(H6TETEUMMIGT SMHLIGUT ML (600G LPemMUI6D LOMetoTed F&6T Lil6oTLIMMILD (DM m

A : Listening
2 mml CBIMTEHE
B: Reading
U9 5560
C: Co-operative learning
©)6m600T[HG! &MM6V
D : Independent learning
Fefl58! HHM
25 25 | Find out incorrect pair :
SHEUMITEOT &) 60)600T6M LIS &5600TL_M1 &5

A: R.C.E.M - Regional College of Educational Management
R.C.E.M. - Regional College of Educational Management
B: CCTV - Closed Circuit Television
CCTV - Closed Circuit Television
C: DVD - Digital Versatile Disc
DVD - Digital Versatile Disc
D : TOEFL - Test of English as a Foreign Language
TOEFL - Test of English as a Foreign Language

26 26 | Questioning by a student about how we get rainfall ? How we receive light from the sun ? and how the aeroplane fly in the sky ? is due to which learning
factor ?

6TLILIG emp QUTEIEMSI ? eTelaumml &l weof 1A ®BIH S 66l auBEH M ? eumentleb elnmeoTLd 6T LI LIMEH MG ? eTeoTm)
3 H&SHBH ST GaHaTallEGmens &L G GLLHenGUWI6T HMMaSHES 2_F6|LD &6l 615l 2
A : Social fact

FeLNGs SITIT60of]

B : Emotional fact
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IDEOTGI6U(LDE T &ITITevor]
C: Individual fact

SeoflULl L s&miyevof]
D : Psychological fact
o 6D FMFHS &ITTeoor]

27 27 | Which of the following is a domain of learning ?
L9 63760 (TH 61 60T6U M MI6IT &M MES63T T M)

A : Experiential
S@ILIGILD FTTHS S
B: Professional
Qsmbleh FTIHSS!
C: Spiritual
LUTEIIL ETTHS S
D: Affective
LD6OTLD FMIHSH S
28 28 | SITE means :
SITE 6T60T LIS :

A« Satellite Instructional Television Experiment
Satellite Instructional Television Experiment

B : State Institute of Teacher Education
State Institute of Teacher Education

C: Social Institute of Talent Entrance Exam
Social Institute of Talent Entrance Exam

D : Simple Instructional Television Experiment

Simple Instructional Television Experiment

29 29 | When a teacher tends to explain the concept of "light reflection” to students by make them to allow the laser light to pass through the water in a beaker is
the exampleof ~ learning.
LDTEOOTEU T &H6Mm 6T 62(1H LT & fl6v 2 6o Bifler euflGu Geua T serfl&smemmentll] LIMUIESF QUG e6rfl TS G ymerfl g g 60 6ot
LievoTL|S6meT @ TPl ellensds (nmHLGI6US 6T6U6IM &S &M MeVI& 8 Te0T 25T J6e0orL ?
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30 | Teacher asked the students to deliver the presentation in person via webinar from home is an example of :

31

247 TN Play

A : Auditory learning
QFailliLevetT auSlGUI SMM6L
B : Visual learning
@QWESSH 6T UG &MHMe6Y
C: Motor skill learning
LMTFemel S5 medr auldlGul smmev
D : Kinesthetic learning

Q&M 2_evorye UG &MM6V

AW nmevoreuserflib afL 1969 (HH & QeuLNeT T (Webinar) eLO6VLD LIMLMBIGHem6T GBIV aULMHIGLOMMI 6160l MIS S0l
THSHHEHHTLLTGLD.
A : Online learning
3)60)600T LI H6IT& & MM6V
B : Sensory learning
L|6V60T 2_600TJ6Y &HMM6V
C: Visual learning
LMTIenel SHmesr SMMmey
D: Kinesthetic learning

QuIsH LI SMHMEY

"WSGI" 6Te0TM QLIMIHET &H(HLD CI&FM6V :

A

LieoofleuLd
B:

BEYC)
C:

BlSElevld
D:
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Geurl

2P 3. auaTerflwliumelledr UL LIQLIWIT

A
GLHS S &ellEh
&HMHLIEM6ETS &6l 6hIT

2 alemlng &HellEhF

2 (HeUGHS HeNlEh
33 33

S0P 6TEOTERID G FMeVEVI 6T GILIM(RHEIT :
A

&HHLOY

GxemeuWMMm QIFLY

LG

QB
34 34

1H63Y6U 6T60T LIS 60T GLIM(HEIT :

A
LHLPFH
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D:
sevall

"LieooTem LI SLALD TS 6T FLPLq [FLH S Q&F60oTm Wmemn [ euidlulenilieor"

A

LD 600T LD &5 & 63) 61T
B:

LOIT6O0T 6L [T & 60) 61T
C:

L]6V6UIT 8606
D:

el GBS eTen

F(.6.5 — ameL "CHHAWILD HMEHS QFLDLOG" 6T6dTMI LIMT ML L LI L 6U :

A:
(WWSSITTENEIS CHell
B:
shHemg Quflwumy
C:
el &
D:

LUMTeVSMBIGTST HevssT

SHOLEFHIGHE STVSH O SLOINSHSH D TSI L 61(DSSIGET :

A

@il W53l
B:

856007 G 600T (LD & &1 & 61T
C:
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38 SLTI9.8 BL6VIT — 6Te0TLIGI

A
&HL6V UMD ellevmi&
&6V QUITLD HTEUFLD

Q@ (H U6ME LiIMema

L1600l 1 & 6T SLILI6D

39 CrHTY' eTedtenlld QLW 6L Qeuefloubd @&LD 2(H

A
DTS @\&L0
QUM @50

Breflsp

DTS @ WD @SHLD
40 2 OTIEF & FoMIG6T SH &I GL LD QLIS :
A

GUE&& Qomdluiley
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C:

2 emBenL Qmdluiley

&L ey Qumdluiey
"g 10Ol 0TS 60 & R TMILI(D &G 6T(H & S8 6 & M6voT L (LDWM T &@LU LIWGTLIL &8n1qUl @& FleulILIG&TTID" eTeadTmel
A

856007 600T & ITE 60T

L0.QIIIT. &6 6HITEDT LD

LDMTJ69.6V.67. GIH&LD6vOT]

OIS EVBISILOTT
Q&THIMEFTemev&6TledBHS G eusflGUIMILD L& eLNGVLD QIIT6TE B 6L 6mIFL_ e 60T &SGR M.
A

2,5 60610 (H & 6T

Fevem ()

FeuGLIL

&Germemny(h

HTVGHMS QaleflLILIenLWMEHES ST LTS :

A
Qs fIBlemev alilemenT WO
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&Ly aflemearh o
C:
geueL allemeoT(LnMm
D:
AW mIGsmeT ellemeor(L /i

44

"9L6oTM" @) &F Q1 FMeLEJ6EOT QILITHEIT :

A:
SAWTHS
Sleullbs
QuUTEdH S
2 WrhHs
45 45 . . . .. .
WITLD 6T60TEBILD GILIWLITFQ &MV 62(IH

A

SHEOT60LD 6(HEDILO

SH60T6OLD LIGOTE0ILD

LIL[J&6M8 62(H0ILD

UL J&608 LIT60L0

46 46 . . .
'G>600TLOMWI' — 6T60T LIS :

A
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7]

@&6TLD

GLemL

S

EMTRENE

SOEGS QOBTLY

@rLlenL& Rerail

GTPAUMUIS QSITLIT

allemeoTs Q&ML
BLDE 5600 UM MIET 'UMEFSL (D) HG& SFTeTml 6Tl ?

A

3|6)GUIT6OTLD

3|61 60T

@)\ 6ueoT

36Uy

QTR WSS @6LeVTS SLICPRWSS! :
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A
2 arwss

WG TS5

2 Uy QLILAWWS S

QLUWAWWSS!
'DEV(HLD 2_6T6rTLD' 6T6dTm Hredledr o & iflwiy

A

3JLp. eueTerflulium

BTLNE&H60 &HedlEhT

salllneooll G5 & elBTULISLD

LTS & Mg eor
LIG6 6T SliulemFLI GLIME S W LD GOT60T60T

A
dyly)

GF TLp60T

LI T600T Lq. U1 60T

LI6L6V 6 6BT
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SCUNMGHSTEFT LGNS S HIT6VEEH6IT 60T :

A
5 & &MmeT

QFMTIHCHTemE

LIMeVEUMS L LD
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B:

&6V 60T
C:

& 691161 & 60T
D:
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A:

@GOG QuIgsl QuwWT, @MGME Aol Quwi
B:

SMTJeooTLl QUM QUIWT, &Tyesored S\mLUiLL QUi
C:
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C
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GFTLD LDGOTEOTIT

61 61 | "A thing of beauty" is an excerpt from

A : George Eliot's Endymion : A Poetic Romance

B: Leo Tolstoy's Endymion : A Poetic Romance

C: John Keats' Endymion : A Poetic Romance

D : Enid Blyton's Endymion : A Poetic Romance

62 62 | Which of the following word starts with the alveolar sound ?

A : clean
B: believe
C: refuse
D: first

63 63 | When is the "Grand Parent's Day" celebrated ?

A 15t September

B: 15t October
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C

D:

64 | Find out the type of adjective mentioned in the below sentence.

1°* November

15t December

"There has not been sufficient rain this year".

A

B:

C:

D:

65 | Choose appropriate preposition.

Demonstrative Adjective

Adjective of Quality

Adjective of Number

Adjective of Quantity

There is unity in diversity

A

among

between

with in

. with

the people.

66 | 'Which of the following statement is not true ?

A : Determiners are followed by a noun

B : Article is one of the types of Determiner
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C: The qualifier 'fewer' is used only with uncountable noun

D : The qualifiers 'all a lot of' are used with both countable and uncountable noun

67 | An acrostic Poem can be

A : Read sideways to form a word (or) words

B: Read Upwards to form a word (or) words

C: Read downwords to form-a word (or) words:

D : Read loudly

68 | A Notice is a

A : Blackboard

B : Placard

C: Proclamation

D : Written (or) Printed announcement

69 | Pick the similar meaning for soccer :

A: Golf

B: Squat
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71

72

C: Football

D: Javelin

'At sixes and sevens' a number idioms is used to convey that a person is :

A : Blissfully happy

B : Fully aware and in control of a situation

C: Confused

D : Completely perfect

Which of the following is an example of personification ?

A : The chocolates smelled like delicious cake

B : The chocolates smelled like delicious

C : The delicious smell of chocolates invited me to eat them

D : I dreamt of delicious chocolates

Choose correct synonym for the italic word.
I am living in the Outskirts of the village.

A ;. border

B: outpost
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C: center

D : region

73 || A figure of speech that directly compares two things with words such as 'like' and 'as' is :

A : Simile

B: Metaphor

C : Personification

D : Alliteration

74 || Choose the correct conjunction from the option :

The train was over crowded Binu avoided travelling in it.
A: so

B: though

C: and

D: but

75 | Choose the sentence with the correct punctuation marks.

A : Bharathi is a Tamil poet, who is also an Indian patriot, isn't he ?

B : Bharathi is a tamil poet who is also an Indian patriot, isnt he ?
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C : Bharathi is a Tamil poet, who is also an Indian patriot. Isn't he ?

D : Bharathi is a tamil poet. Who is also an indian patriot. isn't he ?

76 | Which one can't sail ?

A rock
B: yatch
C: boat
D: ship

77 || A reference material which gives students concrete idea about comparing all words with the help of images :

A : Pictionary

B : Dictionary

C: Thesaurus

D : Transcription Dictionary

78 | While introducing writing to the beginners we should start with :

A : Strokes

B: Letter
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C: Sentences

D: Words

79 79 | Teacher asks the students to record the daily happenings in a note book. This task will develop skill of our students.
A : reading
B : writing

C: listening

D : speaking

80 80 | One who writes a dictionary is :

A : Bibliographer

B : Lexicographer

C: Webliographer

D : Photographer

81 81 | A ladder had been placed a wall.
A: over
B: on
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84

C:

D:

in

against

'Fortune Knocks with its best.

Those who cares for their guest'. What is the figure of speech employed in these lines ?

A

B:

C:

D:

Oxymoron

Metaphor

Simile

Personification

American English spelling for the word : Skilful

A

Skillfull

Skill fool

Skillfully

Skillful

Find out the correct phrasal verb for the underlined word.
I need to fend for myself and for others.

A

look on
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B T0OK into
C : look after
D : look at

85

Select the option that correctly form the

Lion : Forest : : Otter : ? .

A

B:

C:

D:

Cage

Water

The alps

Burrow

86 | An Itenary'is a

A

A detailed plan of saving money

A detailed plan of construction

A detailed plan of journey

A detailed plan of cultivation

2nd

pair similar to the

87 | Pickout the American English for the word. 7ifi’

A

Ladder

15t
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B : Elevator
C: Climber
D : Shift

88 | " loved Ophelia; forty thousand brothers
Could not with all their quantity of love
Make up the sum".
Write down the figure of speech employed in the above lines.

A : Oxymoron

B: Epigram

C: Hyperbole

D : Antithesis

89 | The Camel has long eyelashes to

A : Protect it from cactus

B : Protectit from sandy winds

C: Protect it from hot sand

D : Protect it from animals

90 | Pick out the correct noun form of the underlined word.
Birbal is known for his wisdom.
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92

A : collective noun
B : abstractnoun
C: proper noun

D : common noun

91 | The length of a rectangular park is 80 m, while its perimeter is 240 m. What is its breadth ?

®(H QF6US allgeall]l LLmigmaler Herid 80 LS, s-MHmeTey 240 LS 6Tedf16V, IS 60T 3 FHeVEHM S5 &5T600TS.

A: 40m
40 LS
B: 60m
60 LS
C: 80m
80 L
D: 100 m
100 LS

92 | Which of the following shapes that can be divided symmetrically only in 2 ways ?
LY etreupeustTaumMeL 6TH & allg alghemns 2 allblsefley oL HG FnEFrms LNiflés wolgui ?

A : Square
FGITLD

B : Rectangle
QF6UeU&LD

C: Circle
QUL L LD

D : Scalene Triangle
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& LIS (PG CSIToorLD

93 | What is the square root of cube root of 46656 ?
46656 @)60T &60TELOEVE B 60T QUITE G CLOEVLD 6TEOTEOT ?

A: 36
36
B: 6
6
C: 9
9
D: 34
34

A 3-fold invitation card is given with measures as in the figure. Find its area.

16 cm
e ) I Il

8cm 8cm Bcm

s2(1H 3 LolgliL| gsmg_)uij"tg,gg SILEDLUITETTS)] us_g,,s_ﬁ]su 2 6MEmeUTD)
366y &EmeT s Gl&metoT(hlsiTe&l.  {SH60T LITLILIST6m6LE SIT600T 5.

5 Qs | I I 16 Q&8

8Glelf 8G&FL B8Glsf

A 56 cm?
56 QFLS?
B: 128 cm?
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95

96

97

C:

D:

128 Q&FLS?
180 cm?
180 Q& LS?
296 cm?
296 Q&LS?

If Rs 800 is divided among Anbu and Hari in the ratio 2 : 3 then Anbu's share is :

erh. 800 &3 60T LoMMILD @M ifl 6T6dTM HLITHEBEG 2 : 3 eTeoTm lSRFH5H 60 LNflG 5 Q&HTH &S TV 3j6TL NG HemL&GLD

QBTN 6TCOTEOT ?

A

320
320
300
300
350
350

1 400

400

Each day, the workers drill down 33 feet until they hit a pool of water. Water is at 165 feet, on which day will they hit the pool of water.

QLD GIMETE T eoorml G5 mevoT(H LD Ceuemney L &6T 6 HTerlel 33 2J19 &6T SHemeTUIHHRMITTSHET 6T6vflev 165 319 ST

LPEHF60 2_6T6T BEIMLL H6ME 60 678 6D 60T [HITL_&H6T &L ?

A

S-days

5 BITL_&6T
11 days

11 BITL_&6T
3 days

3 BITL&6T

. 4 days

4 BITL_&6T
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Find the area of shaded part.

1 sces

A: 90sqg.cm
90 &. Q&FLS
B: 60sq.cm
60 &. Q&FLS
C: 70sqg.cm
70 &. Q&S
D: 50sq.cm
50 &. Q&FLS

98 | ' What is the area of smallest square that will contain a circle of radius 4 cm ?
4 cm QLTLN6TET QL L G660 2 6TeTL &G W&EF 1MW FHITE5 S 60T LITLILIGTE)| 6T60T60T 2

Al 4cem?

4 cm?
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B: gcm?
8 cm?
C: 16 cm?
16 cm?
D: 12cm?
12 cm?

99
Using the given figure find the value of x.

A: 700
70°
B: 1000
100°
C: gqo
90°
D: goo
80°

100/ Sum of the first ten prime numbers is :
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H6V LSS LIGT 6T600T8561f160T G (D) &6V

A: 55
55
B: 101
101
C: 121
121
D: 129
129

101 1f a wheel rotates 3 times completely to cover the distance of 792 ¢cm, then the radius of the wheel = ?

792 QFLS QS MTENEVEMEUES &L &8 @(H FEHSHTLD 3 &MHMIGET (LDWEMLDWITES &FHMITM S 6T60fl6L F&&HTEH 60T QLD =2

A: 49cm
49 Q&FLS
B: 42cm
42 Q&L
C: 36cm
36 QFLS
D: 35cm
35 QFLS

102
A man spends % part of his monthly earnings and again earns % part of the

remaining money. What is the part of his money with him now 2
59(I LDEGTISE6T HEETER|eMLILI EL(HLOTEsT S Hl60 % umnlg tlFsvsulblsdlimmesr. Gosib

BgElysitem  LsmTSH60 % umig  Slmbusy FourglsElmmsir  eTsuflsy

SisuestlL(psTer HHEUITenS W LTS ST LIMkI(Z; sTeL6U6TEY 2

A
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B: ]
2
1
2

C: 3
4
3
A

D: ]
4
1
4

103 103
9™ ' T

Find the value of

o »
(9288 © g3 P (1R

ar o W y (34)18

@2’ 13 (g4)®

WEIIL| HTesTS

A 24336
24336
B: 24436
24436
C: 23446
23446
D: 24326
24326
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104

105

106

10% " How many symmetric lines in the word "Bus" ?

BUS - 6T60TM Q& M6L6916L 2_6IT6IT 6T(L0 & F1561Tl60T FINEET CoMT(H & 6rfl60T 6T600T60011 856005

A: 1
1
B: 2
2
C: 3
3
D: 0
0

105/ Using Atbash Cipher, find the code for GSV : ZMW.
QL umeq enm@&GMIUTH LWeTU®R S, GSV : ZMW —60T GnlLI60L &IT600TSs :

A: THE: AND
THE : AND
B: HAD:THE
HAD : THE
C: AND:THE
AND : THE
D: THE:HAD
THE : HAD

106 Tn a sweet stall, 25 kg of sweet costs Rs. 8000, what is the cost of 1 kg ?

@ @ eoflliL& SemLuilev, 25 &.5). @eoflLILN 6T ellemev em. 8000 6Tenfl6v, 6(H FGeuT @) 6oflLILN 6T ellemreu Wi ?

A: Rs.300
€m. 300
B: Rs.325
€. 325
C: Rs.320
M. 320
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S. 35

em. 330

107/ Find the value of 0.4 + 0.96 + 0.545.
0.4 +0.96 + 0.545 & LDHLILN (R 5.

A: 1.905
1.905
B: 0.905
0.905
C: 1.645
1.645
D: 0.645
0.645

108 | Write missing numbers
2,3,5,7,11, , 17, ,

,29,

AN (HLILL 6T600TS:6M6IT 6T(LD SIS
2,3,5, 7,11, 17, , ,29,

A: 13,19,31,23
13, 19, 31, 23
B: 31,23,19,13
31,23, 19, 13
C: 13,19,23,31
13, 19, 23, 31
D: 13,23,31,19
13, 23,31, 19
109
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Observe the following figure, which is the shortest route from Ato E 2
12 hr

8 hr

4 hr

lsiTeu(md LILGems 2 HmIGHTEE], A —ulledl(mhal E —&(5 blasusy (Henmbs
266y Crr&Hens 6T(hSHICISmeT(EHD UblSELLD 675 ¢
12 hr

8 hr
(A) ) ®

%

® D)

4 hr

A: A-C—E
A—-C—E
B: A-B—->C—E
A—-B—->C—E
C: A B—>D—E
A—-B—-D—E
D: A-B—-C—D—E
A—-B—->C—-D—-E
The Ascending order of E i i. lEsr:
571 15 3
3, i i ! gmisuflens :
5 10 15 3
A: 4
15

A
10

wn | L

L]

| —
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7 GET IT ON
B Google Play
15" 3" 5" 10
B a4 7
3" 5" 15" 10
1. = A J
3" 515" 10
“ 137 4
3" 5 18" ¥5
LI
3" 510" 15
P37 41
5"10° 15" 3
g & 3 1
5"10° 15" 3

111/ The population of a town is increasing at the rate of 8% per year. It was 531441 in the year 2018. Find the population in the year 2016.

R BHTHH 60T INGHSH6T QSHTeNSH 21,600T(H &G 8% aisD B HFEHRMSI. 2018 1D 24,600T(H) LDE&&HET Q& TN & 531441 94,5
@\ HHBHSI, 6T6vt16V 2016 LD 3L,600TIQ 6V LDEHSH6T Q15 T60ISH6M LIS &IT600TS :

A: 455525
455525
B: 465625
465625
C: 455625
455625
D: 455265
455265

112/ Now mother is four times old as her daughter. After 3 years, the mother will be three times as old as her daughter. What is the present age of mother ?

SMHCUTE HTUIeT auulgl n&6Tl6T alulems Ll GLIME 4 IDLTBISTEGLD. 3 QL600T(H&HEHEHES LIM@E& STulleT auulgl L0 e6rfleor
QUUIEMSLIGLIMTE 3 LOL_MBIG 6T6ot16V SmUIl6dT 61 WIS 6T6TEoT ?
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AT 3
30
B: 24
24
C: 36
36
D: 28
28

113/ In a parallelogram, if the height is 15 cm and its base is three times of its height, then its area is :
@ (H @) 6M6ITSHISH 60T 2 WTLD 15 Q&F.L5 IDMMILD {5607 19 L1LIGSHIDTETSI 215607 2_UITEHSH eme6orLl GLIM6 (LOLDLOL MG 6T6oT160
©)6M600TS 7 & T 60T LITLILIGTEY WIS ?

A: 575sq.cm
575 5.Q&.18
B: 675sq.cm
675 F.Q&.18
C: 225sq.cm
225 5.0F.18
D: 275sq.cm
275 &.0&.18

114/ 1 the area of a circle is A, radius of the circle is R and circumference of the circle is C then which of the following is correct ?

A 96Tl QUL LSH 6T LITLenU GMI&EH M. CLoaID R 95,6078 eIl L5 60T 2 THeMGS WD C 4,601 6L L& 5) 60T
FHmerenall]d &Ml& s meL LileiTel(heleoTeuMmieT eT&l &ifl ?

A: RC=2A
RC=2A
B:
€ _p
A
€ _g
A
C:
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115 115
; = g ] e A i
The total surface area of a cylinder whose radius is 5 of its height s :

@ (H 2_HeM6TUI6T 9 TLD I &H60T 2 TS H 6V BHFH6EL 627 LIMIEG 67601160 2&60T QLOMES S LImLUILITLIL]

A ?Trhz

25

9-rh?
25

&mh?
25

&h?
25

Simi2ah?
25

12+mh2
25

2 1rh?
25

2 rh?
25
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116 Siddharth wants to buy 3 cricket balls from a sports shop. If a dozen balls cost Rs. 240, how much should Siddharth pay to buy 3 balls ?
FHHTIS, 3 RflGQ&L LbEgsemeT e ellemerwmL (L QUTHL&6T ellM@&LD &HemLullev aummig e[S MITeT. @b
QULLY (12 LB SIGET) LiH S Serfler ellemev er240 616l 16V, FIGHTHE 3 LITH S 5H606IT 6UMHIS 6TeU66TE| QFH TN QFNES

GeuevoT(HILD ?
A: Rs. 60
em. 60
B: Rs.20
M. 20
C: Rs.240
em. 240
D: Rs. 12
em. 12

117
The value of

{5 ?] ['4 15'].
— X = —|=+=]|is
14 4 i 5

5 7Y (4 6 s )
iy coninsd el feebi Sl I
[14 4] l_? 5_] ser sl

A 25
168

25
168
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1468

118 118/ A flag pole 12 m high casts a shadow of 4 m at 10 am. The shadow cast by a building at the same time is 18 m. The height of the building is :
@) Q&HMY SHIOLILD 12 15 2 WFLme @IHEHGD QUITWRS! &menev 10 etoll gjemailev 4 IS LT 2 WTSHMES BILP6L enn&HmSI.
365 CBHIEHH 6L 18 LS Blp6L 2 WITLNTSE @ (HSHEGWD QUTWRS! &L 19 L &SH60T 2 WD :

A: 93m
93 18
B: 54m
5418
C: 48m
48 1§
D: 40m
40 LS

119 119/ If the cost price of 16 boxes of strawberries is equal to the selling price of 20 boxes of strawberries, then the gain or loss percentage.
16 e L_FmQ U] QUL 198 61fl6T 9L &8 allemeullmental 20 6L FTQILIf] QLI 19&6rfletr ellMLIemenT 6llem6v& & & &FLoLh 6Tevflev,
@6uTULD (&) BLL LD F56551D &Meuorss.

A: 10%
10%
B: 30%
30%
C: 20%
20%
D: 40%
40%
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120

121

122

120 A is thrice as fast as B. If B can do a piece of work in 24 days. Then the number of days they will take to complete the work together.
A 6TEOTLIGUT B 6T60TLIGUEMTE &HITL LG 6V Ceuemev QFILI6UE6L eLN6TMI DL _MBIG CaussLDMeTely. B Qh60Tall 62(H Ceuemevem L 24
BITeTss6rflev (NI LILIMT 6T6vfl6, @) (HeUHLD @)e06t0TH Sl 3iHSH CeUemeVemL (LNL).E8 67556060 [HIT6TSH6T T(N&H SIS QG TeTeUT ?

A : 6days

6 BITL_&6IT
B: 9 days

9 BITL_&6T
C: 3days

3 BITL&6T
D: 7 days

7 BITL_&6T

121 Bhuvan is a free internet based computer application launched by ISRO on

L|6U 60T @)6V6UT @) 60I600T LI S56TLD 85600116011 FMIHS LIUIETLIML LY M & T8 @Lr)@u_l efleoor Qe QL IMULIFR &5 8 5 60TV
o ([(HOUMSSLILL LG :

A August 2742009

L&V 02 QLD [BITET 2009
B August 2272009

QL& 22 YLD [BITET 2009
€ August 12" 2009

L&V 12 QLD [BITET 2009
D August 12t 2020

QLS 12 YLD [BITET 2020

122/ Which one of the following is not the basic reason for formation of soil ?
@eUmNIl6V TSI LD6TOT 2_(HEUMHH ST M@ U LQLILIEDL & &HITTe00r 0TS TS ?

A : Parent rock
STULILTemnMm
B : Climate
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&6V [BlemI6V
C: Sun
& flwiedr
D: Time
&MeVLD

123 1123| The first hydro electric power station in India was established at

@S W meller n&6v BT WledT Blemeul b 6L BlmIeULILIL L gl.
A : Simla
Flbevrr

B : Kanjanjanga
556hH 82 60T MBIGIT

C: Darjeeling
Lmyedledimi

D: Calcutta
HVEHSHT

124 1124 Which one of the following is wrongly matched ?
(a) Bernier - Shahjahan
(b) Cotton Mill - Ahemadabad
(c¢) TISCO - Jamshedpur
(d) Economic Liberalisation - 1980
LY edTeu (HeueoTeu M MI6T FfluIMe: QUITIBHS TS 6260T0) 615! 2
(a) QU6 WY — 61q.TE2 85 TEdT
(b) UBGSHH 2,606V — SIHSTLITS
(c) TISCO — 2Mheaq L LT
(d) QUITHETTSTT LOWILDMEHE 6V — 1980

A : only (b)

(b) LB &Fifl
B: only(c)

(c) LD &ifl
C: only(a)
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(@) DL (LD &ifl
D: only(d)
(d) LG\ &l
1251125/ Which one of these is incorrectly matched ?
@eummI6T 6T&l FlWme QUTHESLILILel6veme ?

A : South - Western Railway - Hubballi
Q5eTCLMEG @TUulevCel — amd®Lierl
B : East - Central Railway - Hazipur
FP&EG WSHHW QIuilevCel — aEFILILLIT
C: West - Central Railway - Jabalpur
CLMHEG WLHHW GTuilevGel — BQLILLLT
D : East Coast Railway - Kolkata

PPEG SLMHHMT @TuilevGeal — Q&TVHSST

126 126 Choose the correct statements :
(a) Total members of the Rajya Sabha is 238 + 12.
(b) The 12 nominated members shall be chosen by the president from amongst persons experience in the field of literature, science, art, or social service.
(c) The members of the Rajya Sabha should not be less than 25 years of age.
(d) The members of the Rajya Sabha are directly elected by the peoples.
Frflumer gammlener CHTHOSHEHALD :
(a) LDITBl6VMBIGETEnEUUI 6T QDTS S 2 mMILILN 60T T8 61Tl 60T 6TevoT600r | &6m 8 238 + 12.
(b) @6eVE&H WD, MG, Hemev, Fend CFemal LG Hlenmaeatle) AMbHs 9njla IMHMILD LiaID QLmHM 12
BLITS606T LOMBl6VMHISTemalSH G G UITE Senevall Blubl&ESH M.
(c) LDMBleVEIGHETemaU 2 MILILN TS EB &G 25 UGS G GGeNMEUTE @) (HSHH) Fn M.
(d) Lo BlevmIsGeTemel 2 MILILNeT 86T CBTIQUIMS D&SHETTEV CHTHA S H &8 LILMG SR 6TMmET.

A : (b), (c) and (d) are correct
(b), (¢) LDOHAILD (d) &f]
B: (a), (c) and (d) are correct
(a), (¢) LODID (d) &Fifl
C: (a)and (b) are correct

(a) LoD DILD (b) &1f]
D: (a), (b) and (c) are correct
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127

128

129

(a), (b) LOHDID (c) &Fif]

127 Which of the following statements is/are not true ?
(a) Srirangarayalu gave the English the grant of Madrasapatnam.
(b) Day and Cogan were jointly responsible for the construction of fort St. George.
(c) In 1969 the state of Madras was renamed as Tamil Nadu.

LY eTaupLd 6TH S M08 / M) 560 586 2_600T60) L0 W HMEmE :
(a) WIMISTTWe O HIHCWTSHEHEH G LDSTTEF LIL L 600TS 605 LOM6oT WL TS 6ULDMHIG 6oTT.

(b) GL LnMMILD G&HMTEHET 2SI @ HeUBLD L6ofles Qmis CaMLemL &L IQUISME G LITMILILIT6T6U &6,

(c) 1969 41D ,600T(H QLOL_ TN LOMBlevd SLALDBTEH) 6Teor Goum QuUWIFlL UL LGl

A : (a)only

(a) DL (LD
B: (a)and (b)

(a) LOOYILD (b)
C: (b)and (c)

(b) LOMHOILD (c)
D: (c)only

(c) (D

128/ When was the Erode Municipality formed ?
FCIM(H BHITLE 6THS b600T(H 2 (HEUMSHHLILILL S ?

A: 1918
1918
B: 1920
1920
C: 1919
1919
D: 1917
1917

129 Pick the odd one out :
QUTBHSTEeUMDENM &6oor(HLNI &8eLh :
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130

131

= |V

A Namakkal-Kolli Hills

BTG &6V — Q1&M6V60 LD6m6Y

B: Salem-Servarayan Hills
G&6uID — GFFEUTITUIEIT LOEDIGV

C: Villupuram-Gingee Hills
aNWLILTh — QFEHT Lnem6v

D : Perambalur-Kalvarayan Hills
QUIFLDLISVITT — &6V6UJITUI6OT LO6TY6V

130 Quick response ambulances are parked in every distance in national highway

2 Lerlq ellemye] jeusFy AR GenT 2a1TFH &6 CHF W Q1B (H 6HF M6V &H6rT16V 62616 6UIT(IH
BOISSIULIGBEHGLD.

A : 100 kms
100 &).L4.
B: 50 kms
50 &).18.
C: 40 kms
40 &).15.
D: 20 kms
20 &\.18.
131 Miracle rice :
SHFw IR :
A: IR-8
IR-8
B: Peta
Flem

C: Dee - geo - woo - gen
183l G UL T—6u,— G 83607
D: Samba
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132

133

134

132 Cambium which is responsible for the Secondary growth is present in this stem :

@)\[JEOOTL_ITLD B160)6V QUETTEF & & @& & ITIFevorLnmeT G&LDLIWILD @) & 60T &600TIq 60 STeooT LILIHEMS

A : Grass
L6V

B : Banana
QUITEDILD

C.Sunflower
&I &MHS)
D : Maize

&S TEFGHFMeTLD

133/ The paste obtained from the leaves of which plant cures burns on the skin ?
TH& HMEUTSHH 6T G enev&Harley @HE QUMUILIBILD Lieng CHmedlev 2 6TeT & &TWMISH6T G600 IL(B &S LIWeTLBO&H S
?

A : Aloe vera
2,Cevmalym
B : Phyllanthus amarus
SLINGV6VITH S 6 SLDITTE
C.:.Acalypha indica
3| GTEONLIIT @) 60TIq.5IT
D: Aegle marmelous
g&ev LomFLdlemeny
134/ Which is not the special features of camel to survive in desert ?
LD &5 TED0T LIGOTEU M MIGT 6T 6L L&D LIMemeValaTSHH60 ey FIMLUIL] S eMIDLILSHETTH TS ?

A : Camel's hump
R L&55 60T Fldlev
B : Large and Flat padded feet
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CILUTIW LDMHMID &L 60)L_ULITEOT &IT6LEH6T

C: Long tail
HevorL aumev
D : Long eye lashes
1H600T L &600T ©)60)L0 G561

135 1135/ Algae are belongs to which class :
LT &ET 6THS UG LIenL FMTHEHemel ?

A : Thallophyta
STCEMSHEMLILLIT
B : Bryophyta
LNem TG M6t LIL_LIT
C: Pteridophyta
QLIIGLM&:emUILLIT
D: Gymnosperm
3D BEOTTEN &G LITLD
136 136/ Find the microminerals needed by human from the given list :

06Tl 58015 & CHemall LI FIn ST H6oflnmkigGen6T Q&MTH &S LL L H 60 [mHE &evorl_mls :

A : (i) Sulphur, (ii) Iron, (iii) Cobalt
(i) BBSH&LD (i) @ BLOL (iii) CSHTLIMeVL
B : (i) Cobalt, (ii) Calcium, (iii) Sodium
(i) GaTUIMEVL (ii) &HMELEFIWILD (iii) GFMIQWILD
C: (i) Iron, (i1) Sodium, (iii) Zinc
(i) @ Loy (i) GFMIQWILD (iii) SISHSBMTSHLD
D : (i) Sodium, (ii) Cobalt, (iii) Zinc
(i) GFmIQuILD (ii) GSHMUIMEVL (iii) SISHSHHMTSHLD
137 137 Which organ system is responsible for the exchange of gases between organism and its environment is called

2 WflergsHMHGWD, SHNLILMSHHESLD @emnLullev seurmwll LfllmHmESHHES LMEG QUMD 2 miLIL] L06torLeVld
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AT ENdocrine system

B : Respiratory system
&6UME LO6OOTL6VLD
C: Digestive system
Q& fILDIT60T LD6voTL_6VLD
D : Reproductive system

@) 60TLIQLI(HE S LD6DOTL_6VLD

138|138 Match the following :
Diseases
(a) Tuberculosis (i)
(b) Cholera (ii)
(c) Chicken pox (iii)
(d)  Rabies (iv)
CUMmEHIS :
Gmml

(a) srelmml
(b) EITEVITIT
(c) L1 1DemLD
(d) Gruilen
A (a)-(iD), (b)-(iv), (¢)-(1), (d)-(iii)

(@)-(i1), (b)~(iv), (¢)-(1), (d)-(iii)
B (a)-(iid), (b)-(i), (¢)-(ii), (d)-(iv)

BITeTL6VEVTE ST LD6DoTL6VLD

Agents

Varicella

Mycobacterium tuberculae
Bite of infected dog

Vibrio cholerae

STy 6o0T
(i) sumiflGlasusum
(i) snEGCHET UTSELE W gupLiFE G

(i)  Qeuppmissy

(iv)  auflGwm mmeuGiy
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140

141

= |V

(@), (b)-(1), (¢)-(ii), (d)-(iv)
C: (@-(1v), (b)-(iid), (¢)-(i1), (d)-(1)
(@)-(iv), (b)-(iii), (¢)-(i), (d)-(1)
D (a)-(ii), (b)-(1), (¢)-(iv), (d)-(iii)
(@)-(i1), (b)-(), (¢)-(iv), (d)-(iii)

139 Leucoderma is .
NICHTOILILOM eTeoTLISI .

A : Communicable disease
Q&sTMmHMmI GBIl

B : Blood cancer
QUSS LhmI GBIl

C: Non -communicable disease
Q&STOHMT GHITUl

D: Anaemia

QUss C&Fmemns

140" Benzopyrene and Polycyclic hydrocarbons are related to :
QuUeTGFmemUIfleT LnMHMILD LITedlen&a6fle enaml GIIT &I LIGTSH 6T 6THEIL 60T QGTLITL6mL UG ?

A : Prolonged use of drugs
QBTLIFFWITS LOBHSI8 606 LI LIW6dTLI[H & SIS 6V
B: Alcoholic

SN M@ 960D UWITSH6D
C: Smoking

Len&LI19.5586V
D : Diabetes

Brilifley GBI

1417 Study of very low temperature is called :
&8 Genmbs GauliLibBlenev LM LI &@&LD mlelluie :
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Google Play
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143

= |V

A Cryogenic

R e TCWITG60fl8
B : Mineralogy
&HeoflLoell ey
C: Geology
Hefluilwev

D : Universe
3|600TL_LD
142/ Water is used as coolant in car engine because of its property of

BT &mT @uibS rhisserfler @erflFallliLmerms LweTUGeUSME 6THS LIGOoTL| SITFeoTTHMmS! ?

A : Specific heat capacity
&6 QauLILI 67L& S MedT
B: Anomalous expansion
Brletr syFmsmyevor elifleumg s
C: Latent heat of fusion
2 (IHh&SH6960T 2_6TEHenM GauLiLID
D : Latent heat of vaporization
B eellwimgeder 2 _6T@benm QauliLimn

143/ Complete the following reaction :
Hydrocarbon + Oy — \B + Heat energy + Light

LY eraupLd ellemeemill Blemme| Q&FUIs :
QL GIIT &HITTLIET + 0y — + + QeI &yMMeL + el

A : Water vapour +CO,

Bomel + Co,
B: H,+CO
H, + CO
C: H,+CO,
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IS 2+L02

D: CO,+0,
C0,+0,

1441144 Salmonella bacteria affects - organ in Human body :
FTeVCLOMQeT6VeVIT LMLl wesf1Siflev 6THS 2 miLienL &T& @G LD?

A : Liver
&6V6576V
B: Spleen
LD 600T 600f (760
C: Food pipe
2 _600T6Y L6V
D: Mouth
eUIml

145 145 The pollutant that affects the central nervous system of human is

LN 60T & 60fl60T D& S W [HIFLOL] LD600TL_ 60560 LITH & GLD DM

A: Lead
WL

B: Arsenic
2T F eofl 5

C: DDT
DDT

D: Chromium
SCrmudlwib
146 146 Which one of the following is not played role in Nitrogen fixation ?
LY edTeu Heu6oTeU M M6V 6781 6MIBL_TE360T Hl6m6VIH]MIg 5606V LIMIEG GlLMIIH 6L6m6L ?

A.._Nitrosomonas

60 L_J @& MGLOITET M6V

Page - 58


Highlight

Highlight

Highlight

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

147

148

149
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b \zotobacter

QFLCLITUMSHL
C: Rhizobium

e Gamilwib
D : Nostoc

BIT6IVL_IT&

147 The percentage of propane in compressed natural gas :
SWSHSLILLL QuiMema aumuelev s&meoor LB LFLiGuUentler Fgaisln :

A: 18
1.8
B: 3.7
3.7
C: 55
55
D: 88.5
88.5

148 The unit of Ionic product of water is :

Bifledr wienflll QLI[HE S EH 60T 6V :

A mol dm?

GLomey QLAILS?
B: mol? dm®

GLomev? QL SISO
C: mol? dm3

Gmev? QLAIS
D: mol? dm™®

GLomeL? QLGILS6

149’ If an atom loses electron it becomes :
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= |V

Q0 &0V TVE L JTTen6T @)Lp&8 GBIl LTV 2| 6)6IsD) :

A : Negatively charged
TR T ETERTL L (LN6d WS TR M S
B : Positively charged
CrILIeTETL L (NemnLWSTHMSI
C: Neutrally charged
BhH\Blenev WleTenrl L (e _WSTHMSI
D : Neither Positively charged nor Negatively charged
CrIleTearL L (e W SiILtleveney, eTH FLleTenrL L (Lnem LW GiLol6vem6v
150" Which one of the following is highly reactive and colourless gas ?
LD 85856007 L6l M MIGT 6TSH TG 6lem 60T H M6dT Gl& MevorL LOMMILD BIMWMM euru] ?

A : Helium
anjeSlwiL
B: Oxygen
24,8569 82667
C: Argon
275 T60T
D : Chlorine
&Germflesr
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